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Summary

Overall performance compared to last year

This paper proved a little harder than last year’s. While undoubtedly accessible, examples of well-
developed arguments were rarer than last year. The ability to take a chain of argument from start
to finish, remaining in context throughout, is critical to all six questions on the paper. This skill
should form the ‘bread and butter’ of exam preparation for students if they are to be properly
prepared to access top levels of response. Tied up with this is the ability to weave more than one
aspect of a case study/appendix into one argument, showing an understanding of potential
causality. This skill can be practised using past papers or appropriately selected other case study-
based materials. To be most effective, these practice exercises should offer students the
opportunity to draw contextual information from various areas of the specification.

A further general issue noticeable this year was a slight decline in the quality of evaluation. This
was caused by failing to make a judgement specifically related to the question set. Questions 4, 5
and 6 especially exemplified this problem. Many students concluded question 4 by offering a
decision of whether to change the approach to promotion. Question 5 saw judgements on whether
to expand production facilities and question 6 saw judgements on ‘the best’ leadership style for a
growth strategy. The over-arching principle behind this paper is to always ensure that the question
asked is being answered precisely.

Topics where students performed well

Questions 1 and 2, on environmental operations objectives and organic growth. Question 4, which
relied on the need to interpret graphical data and assess the impact of social media promotion on
sales proved a strength.

Topics where students performed less well

Although question 3 was accessible, well-developed arguments proved harder for students to
produce. As mentioned above, the ability to weave more than one aspect of the data/case study
into an argument is a common way to move an argument from developed to well-developed.
Question 5 posed several problems — sticking to the question and its focus on risk, as well as
showing some knowledge inaccuracies when interpreting Appendix B data. Use of that data to
calculate relevant financial ratios was rare. Question 6 proved challenging, especially in explicitly
addressing the growth aspect of the question.
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Assessment objectives

AO

AO1

Demonstrate knowledge of terms,
concepts, theories, methods and models
to show an understanding of how
individuals and organisations are affected
by and respond to business issues

Common student errors

Organic growth was the most misunderstood piece
of business knowledge on the paper, with a notable
minority believing that this meant environmentally-
friendly growth. There were opportunities offered to
calculate financial ratios (most notably on question
5) but less than half the students attempting the
paper successfully did so.

AO2

Apply knowledge and understanding to
various business contexts to show how
individuals and organisations are affected
by and respond to issues

Application across questions 1 to 5 was generally
effective. Predictably, the challenge of
contextualising arguments on question 6 proved
tougher. Students should be reminded that
application means context, not necessarily a
specific example. Many who did add context
named businesses they had clearly studied in
class, but even more successful were students who
contrasted the relative importance of external
factors by comparing fast moving industries (eg
technology) with slower-moving external
environments (eg furniture).

AO3

Analyse issues within business, showing
an understanding of the impact on
individuals and organisations of external
and internal influences

Question 1 highlighted a problem for some
students when building analytical arguments —
namely failing to ensure all aspects of the question
were included. Though many students built
arguments centred on marketing, these arguments
failed to explicitly address the ‘operational
decisions’ aspect of the question in any detail.
Similarly, responses to question 4 often omitted
reference to ‘increasing sales’, whilst analysis on
question five often omitted reference to the level of
risk.

AO4

Evaluate quantitative and qualitative
information to make informed judgements
and propose evidence-based solutions to
business issues.

To access higher levels of the mark scheme,
judgement should show some form of balance, and
many students were unable to access the ‘good’ or
‘excellent’ bands as their evaluation didn’t offer any
sign of balance. Weaker responses often simply
summarised when attempting to evaluate, rather
than genuinely trying to weigh-up their arguments.
Note that weighing up arguments in an evaluation
would be far more likely to offer some form of
balance to evaluation.
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Question 1

General feedback

This question worked well as an opening question — proving highly accessible to most students to
make a start to the paper. The major challenge faced by students was ensuring that both aspects
of the question (prioritising environmental objectives PLUS making operational decisions) were
addressed within arguments. One well developed argument addressing these aspects was
sufficient to gain a mark in the top level of the mark scheme. Some students clearly spent too long
on this question, trying to fully develop three or even four reasons, thus storing up timing problems
for later in the exam.
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Examiner commentary

A level 2 response. This response makes relevant points and develops these into contextualised
arguments. However, it does not explicitly examine the role of any actual operational decisions
within the analysis. It therefore shows good knowledge, but does not fully address the analytical
demands of the question, ending up as a reasonable response (8 marks).

Examiner tip

Reaching level 3 would simply need a clear link in either argument exemplifying an operational
decision that illustrates the reason being discussed. For example, if the first argument had inserted
a link explaining how Bodhi’s insistence on ‘only using power from renewable sources’ showed the
business’ commitment to its founding principles, this would have been considered well developed.
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Student B

Eil Analyse why Logger Boards Ltd prioritises meeting environmental objectives when making

operational decisions.
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Examiner commentary

A level 3 response. This is a nice example of one argument fully developed getting into Level 3 —
addressing most of the demands of the question. The answer explores a range of issues relevant
to the prioritisation of environmental objectives and includes a couple of examples of operational

decisions. (11 marks).

Examiner tip

To move to 12 marks, there was scope to explore the operational decisions in slightly more detail.
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Question 2

General feedback

This question presented a greater challenge to students. A notable minority showed a lack of
understanding of the term ‘organic growth’. In addition, some drifted away from analysing methods
of growth, instead drifting into a discussion of sources of finance — thus not answering the question
set.

The greatest challenge that most students faced was in being able to explain ‘why’ organic growth
would bring certain benefits to Bodhi. Most were able to state what the benefit was to Bodhi, then
explained why this benefit was useful. However, these arguments showed a significant missing
link. Most commonly, students picked out that organic growth is less risky than external growth.
Few managed to effectively explain why this was the case, however far more were able to link the
lack of risk to Bodhi’s attitude to risk. Typically, these responses achieved a reasonable level mark,
whilst good responses needed the ‘why’ explained.

Student A
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Analyse why Bodhi may have preferred organic growth to exlemal growth.
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Examiner commentary

A level 2 response. After a first paragraph that offers little development, the answer then builds a
developed argument about control. However, at no point does the response manage to actually pin
down why organic growth reduces the risk of Bodhi losing control. (7 marks).

Examiner tip

What was missing was explanation of why a larger organisation, such as may have been formed if
Bodhi had taken over a rival, could be harder for Bodhi to control. If Logger had taken over a rival
business, the organisational structure of the larger business would have either more levels
(potentially disrupting vertical communication) or wider spans of control (lowering potential levels of
supervision). With this explained within the argument, the response would have moved to the top
level of the mark scheme.
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Student B
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Examiner commentary

A level 3 response. Though the first argument fails to explain in detail ‘why’ organic growth would
be less risky, the second argument does end up with reasons as to why organic growth allows the
retention of greater control. This second argument is well developed and therefore the answer

scores 11 marks.

Examiner tip

This answer could have been improved by explaining that organic growth may be less risky as it

eliminates potential dangers of external growth such as a clash of cultures.
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Question 3

General feedback

The vast majority of students found this question accessible, often the case when a question asks
students to analyse data provided within the case study. Some had trouble maintaining a focus on
operational efficiency. Other causes of weakness included students who re-wrote the data in the
table, producing purely descriptive responses, instead of exploring the impact of the data on
operational efficiency. The best arguments looked to weave more than one aspect of the data into
an argument illustrating potential causality between some of the data in the table and the potential
implications of that. Evaluation at higher levels required some notion of balance — weighing up the
arguments presented — in this case recognising that while some of the data looks positive, other
aspects are not, though these may change if demand and thus output continue to rise beyond just
the first year of operation in the new facility.

Student A

0|3 Towhatextent does the data in Appendix A suggest that building the new production
facility will improve Logger Boards Ltd's nparational efficizney™
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Examiner commentary

A level 2 response. A developed point was made in context, which indicates reasonableness, the
counter-argument only showed limited development. However, the answer lacks an overall
conclusion - there are snippets of judgement as each point is introduced, but the lack of a clear
judgement brings this to the bottom of level 2 for 5 marks.

Examiner tip

The clearest and most effective improvement would be the addition of a final judgement, weighing
up the two sides of the argument presented. Even without any sense of balance or weighing up,
this would improve to a higher level 2 mark. More sophisticated arguments on the data and its
impact on operational efficiency would be needed to move above level 2.
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Examiner commentary

A level 4 response. Two well developed arguments, but perhaps this answer missed some
chances to link data. The conclusion has balance and pulls out the impact on unit cost as a key
determinant of the answer. (14 marks).

Examiner tip

Take opportunities to link pieces of data into causal arguments — for example, noticing that fixed
costs per unit would be higher, yet total cost per unit would be unchanged meaning variable cost
per unit must fall as a result of the new facilities.
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Question 4

General feedback

Another question requiring the analysis of numerate data provided within an appendix. For this
question, students were required to use both the appendix data and other information — either from
the body of the case study text or other appendices. Most students showed an ability to interpret
the charts shown in the appendix, able to recognise the contrasts between customers and
followers. Better arguments managed to pull together the information from both graphs and link in
other information from the case. Some even managed to back up arguments about high priced
surfboards by calculating the selling price per board combining information from Appendix A and
Appendix B. Most of the evidence seemed to lead to a conclusion suggesting that arguments
against were stronger than arguments for. When building their judgements students should try to
ensure that they assess the quality of their own arguments before deciding on their judgement — a
response with one weak argument and one much stronger argument should come to a conclusion
that ties in with that stronger argument. This was not always the case on this question.

Student A
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Examiner commentary

A level 2 response. Two developed (not well) arguments that slip into pure description rather than
analysis (re-stating the case study, rather than explain why a piece of data leads to a
consequence), and in effect a one-sided conclusion. (7 marks)

Examiner tip

The arguments presented could be more fully developed, but it's worth focusing on the conclusion
of this response. It starts well but then contains an inaccurate statement (60% of Logger Boards
income comes from their current customers) — something that should be avoided by checking the
sense of any statements made using the data. The conclusion then drifts from the question — which
did not ask how Logger should increase sales. The conclusion would be improved by weighing up
the two arguments presented earlier in the answer.
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Student B

[0[4 ifthe new produstion facility is built, Bodhi will aim to increase sales.

To what extent is Bodhi likely to be able to increase sales using his current approach to
promotion?

Use Appendix C and other information to justify your answer.
[16 marks]
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Examiner commentary

A level 4 response. Two well developed arguments with a focused conclusion that shows balance.
An excellent response (15 marks).

Examiner tip

There are times that the response slightly loses focus on the specific question — ‘will sales
increase’, getting distracted by explaining what Bodhi should do to increase sales — not fully
focused on the question.
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Question 5

General feedback

This question provides a nice example of the benefits of sticking very closely to answering the
specific question asked. Responses that maintained a tight focus on the level of risk involved in
taking out the loan scored well. This was especially evident where judgements were clearly
focused on the level of risk. A further feature common to excellent responses was the calculation,
interpretation and use of relevant financial ratios (gearing and current) in building arguments
addressing the question. Weaker responses lost their focus on the question, variously by trying to
analyse whether a loan was a good source of finance (without exploring risk), whilst some drifted to
analysing whether the business should go ahead with its expansion plans. Recognising the time
challenges presented by this paper, questions will often be tightly worded, enabling students to
fully respond to the precise question succinctly, thus avoiding time problems across the paper as a
whole. Responses that drift will both fail to reach higher levels of the mark scheme requiring focus
to be maintained and also potentially use up time that they will need to respond to later questions.

Student A

I 05 ] Logger Boards Lid has been offered a bank loan at 5% interest per year for the
£500 000 needed to finance the building of its new production facility.

Using Appendix B and other informalicn, to what extent is using a bank loan too big a risk |
for the business?

Use quantitative and qualitative information to justify your view. |
[20 marks] |
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Examiner commentary

A level 2 response. There were arguments on both sides although some are flawed, but all are
only just developed. Some data was used but nothing really calculated beyond adding up the new
non-current liabilities total. The conclusion was based on a flawed analysis and also drifts to
answer a slightly different question. Overall, a limited response, undermined by issues of
understanding and focus (7 marks).

Examiner tip

Accurate calculation and then interpretation of Logger’s gearing would have offered a far stronger
first argument. Understanding the gearing ratio should enable you to work out when its calculation
would be useful (as was the case here), but it is important that you show that you understand what
the concept and result mean. The second argument was jumbled — it is sensible to plan what order
issues should be included, in order for the logic of your argument to be clearer. No matter how
good the conclusion, if it is based on flawed analysis, it will not score well.
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Student B
L |

bank loans is an agree sum of money given to a persan or business from a bank that has to ba
repaid with a certain amount of intrest on it.

Firstly taking a bank loan out for any business is a risk, as it is taking the risk that the project will

be successfull an repay the lone quickly as well as being a risk that intrest rates increase. Intrest
rates are the reward for investing and the conseqeunce for spending. The first reason that the risk

of using a bank loan is too big is the intrest rate is that it is a long term loan, this means that it is

likely the business will have several years to repay the loan, this can be seen as ideal due to the
fact that it allows the business to implement the new project and have a change to make profits
before worying about n;payring the loan immediately however the 5% intrest rate could see the
return increase 25,000 just in the first year, this means that the business could end up beingin a
large amount of debt after a few years if unable to repay the loan quickly. Anaother reason why
taking a bank loan with 5% intrest may be risky for logger boards is due to Bodhis want for contro
of the business when taking out a bank loan aspects of contral are lost, due to being held to this
loan, this means that bodhi may need to cut costs else where to ensure he can get rid of the debt
as soon as possible. a bank loan with an intrest at 5% is risky for any business, but is inparticularly
risk for Bodhi who has always aimed to minimise risk, with risk there must be planning and Bodhi

@ would need to have a continguency plan in place if everything were to go wrong. Bank loans can
be a great way for a business to grow if they do not have the sufficient funds, however for a
business like Bodhi that focuses on a niche market, heolds his objectives central to everything he
does aswell as always aims to minimise risk, taking out a bank loan may be way to big of a risk for
the business.

lirmited

eity

However, Looking at loggers boards balance sheet and by calculating the ratios it could be argued

that this bank loan may not be too big of a risk for the business due to their financial position.
Firstly looking into the current ratio, the current ratio shows how well a business is able to caver
their current liablities with their current ratics. before the new production facility the current

ratio is 2.05:1 this means that with every £1 in libailities the business has they have £2 to cover

it, some could argue that the busingss is not anywhere near becomming liquid, This means that it

is likely the business could meet the demands of the bank loan with the 5% intrest without too

badly damaging the busiensses liklihood of becomming liquid, therefore looking at the current

ratio (liquidity ratio) the business is in enough of a finacillay secure postion to take on the lcan. @
The second ratio that can be looked at is the gearing ratio, gearing shows h_p.-.r high of financial

risk a business is at, the gearing for the business currently is shown at 2B% anything below 25% is
known as low gearing and anything above 50% is seen as high gearing. Despite the business being
just above the 25% which is considered low it is only slightly higher, this means that the financial

risk of the business is low meaning that the overall risk of taking on a bank loan with an intrest at

5% is not too big of a risk for the business. Both these statistics based on the balance sheet show
that the business current financial position is very comfortable meaning that despite the risk any
business would face taking out a bank loan, it is likely that this business can deal with it and the

risk is not too high for the business,
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In conclusion | would argue that for any business taking out a bank loan of £500,000 and an
intrest rate of 5% per year is a risk. However is it took big of a risk for logger boards Ltd, | would
aruge that it is not, they are financially secure meaning they can deal with an increase in costs,
that would be likely due to paying back the loan, howewer, the increase in sales and labour
productivity would likely cover this cost, the bank loan is a long term loan so if the company is
unable to pay it back immediatley they can walt until they are In a more comfortable positian,
howewver they would need to be aware of the 5% increase each year. We know that Bodhi tends to
avoid risk, however he also needs to expand his busimess as the current working conditions are
not suitable however after looking at his balance sheet it suggests that his business can cater for
this increase in costs aswell as just guickly looking at the profits for the vear being 230,000, this
mcan:h_,m with profits the business is making before expanding the business could quickly repay
the |oaiy,

EVAL

Examiner commentary

A level 4 response. One argument is developed, the second is well developed. Evaluation is strong
and showed effective balance (16 marks).

Examiner tip

To reach the top level of response, the first argument needed to be developed, most obviously with
more use of data from Appendix B.
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Question 6

General feedback

This question, as is common for question 6s on Paper 3, proved challenging to students in two
main ways. Firstly, many students failed to offer context to their responses, meaning that
theoretical analysis could be credited, but a developed argument requires an aspect of context
applied to the analysis. Though this may be by naming a specific business case (Logger Boards
would have been credited), context may equally well be shown by illustrating a scenario in which
an argument may be especially relevant (leadership may be more important to growth if existing
and new staff are inexperienced or unskilled). The second common problem is the difficulty that
students find in addressing all the demands of the question. In this case, many students were
unable to effectively explore the ‘growth strategy’ aspect of the question, instead analysing the
relative importance of leadership in business success in general. Some students struggled to offer
any valid counter-argument, required for evaluative questions to show some balance.

Student A

— _ — 5 —
e et o lob qh-ll- T o

0|6 Many businesses have a strategy of growth

To what extent does the success of a growth strategy for any business depend mainly on
its leadership?
[24 marks]
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Examiner commentary

A level 2 response. There are several times that arguments do not make sense (Eg arguing that
leadership is less important than the choice of strategy is odd, since the leader will ultimately
decide what strategy to pursue). The only argument credited as developed was only just
developed, while any evaluation based on flawed arguments will not be credited as having any
justification (7 marks)

Examiner tip

Think carefully about what you choose to say and how you choose to say it. Just make sure that
before embarking on building an argument it is relevant and logically ties in with the question.
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Student B

m Many businesses have a strategy of growith,

To whal extent does the success of a growlh sirategy for any buslnass- depand mainly on
its leadership?
[24 marks]
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Examiner commentary

A level 4 response. Good response, arguments are well developed on both sides of the question.
There are some loose ends that emerge within the conclusion as issues raised earlier are not

addressed within the weighing up (18 marks)

Examiner tip

Great evaluation can be seen as tying together all of the issues raised earlier in the answer.
Conclusions should be seen as unique to your response — has the evaluation fully flowed from the
arguments put forward elsewhere in the answer. This helps to explain why it is not usually a good
idea to try to introduce new arguments after writing an evaluative conclusion — these will need have
been included in the weighing up.
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Further support

Mark ranges and award of grades

Grade boundaries and cumulative percentage grades are available on the resulis statistics
page of our website.

Enhanced Results Analysis (ERA)

Use our exam results analysis tool to create and customise as many different reports for
comparison as you like.

Professional development

Attend one of our feedback courses where you can review example responses from students and
commentaries from our examiners.
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https://www.aqa.org.uk/professional-development

Contact us

Our friendly team will be happy to support you between 8am and 5pm, Monday to Friday.

Tel: 01483 477 862

Email: business-studies@aqa.org.uk

aga.org.uk
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